Melodie und Instrumentalsatz:

Es schneit

Klaus Thewes (* 1952)
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Melodie und Instrumentalsatz:

Es schneit

Klaus Thewes (* 1952)

b

28
f

35

.

[ a0}
ANV
J

[ £an

| X

,.h

Violine 1

Violine 2

Viola

Violoncello

48

(1] T Q]

(1] T Q] Q]
] I

m . ol
] | ol

] 1wl 4

N P NI YR M
[ 7 [ BN

M ! NI YA L
] Il

T U e Sl

HER.) T [ BN [, N

I BZL

L 18

g s/ N

HNER.) TN [ BN [, N

I BEL

( 18

g s J N

[TTe A~ T ] [ 1]

[ 18

L)

[ ol T QL Y

= e = == .ﬂﬂu -nu

NO° NGe & n N
N —

— N . .

s s S s

55

// o
R TR HH| [T
| uE el
M7 M7 M el bl
ul ul T el
uE T M YRR bl

1 1 M HR
e e T el L

1 1 M HR

I I L o QL

| | N YARN

| || 1 o TR

| | N YARN

| | N YARN TR
[ Y 1 N AR N

o
Ié/

TR 8 QL (T

EL) el

1T | L) [ YEN 1

e ]

e | bl
s oo = =3 = e o oo
NE° NEe AN ™

N

Seite 2 von 2



